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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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1. NDRF stands for
a) National Disaster Response Force
b) National Disaster Rehabilitation Force
c) Natural Disaster Response Force
d) National Department for Resettlement and Functioning

NN RSTT AT DTS

8) MRS RFWRY® AR, FeRF (o2 e0d BB T@ 03 Fa)

b) RIS FRAY® 0T WO FpeA"F (T30 DRB) VSRR TA)

c) amézsbdef BRORD" BRRES, PP (%:’mrs BB T 03 =A)

d) méaéo‘ RO £ 0oL T DREITTIO0ET B0t PogRON® (a@ﬁdrﬁé 03

FODF TN Tody,e0% Q)
2 lead the Bishnoi movement.
a) Medha Patker b) Sunderlal Bahuguna
c) Amritha Devi d) M. G. K. Menon
WRREOL* zseéw@osadgi dwdﬁf%ddda
a) e TIT b) ROOTTF LR LWBONIED
C) &3 Bed d) 0. 2. 3. DI
3. contains a detailed and organized description about plant life
and its various usages.
a) Yajurveda b) Samaveda
c) Atharvaveda d) Vrikshayurveda
#;35 ReDI 22 0 DG WIENT Wiy DRTTT 0B Roe33
a’bm%odoabq WIRRORT.
a) ODWTeFT b) mRoBe:
C) LBRFIT d) %@Modwa?erd
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“4. Which among the following is a climatic factor ?

a) Pressure b) Humidity
¢) Temperature d) All of the above
i é@ﬁz@ﬁe}@m O3RN BRI 203N ?
a) %3ad b) s3¢3
C) SOTIP d) SIS D0

5. Which of the following is an example of a man-made ecosystem ?
a) Tissue culture b) Herbarium
c) Aquarium d) Forest
=8 é@nwm@e; CIREYT B JWFS [OKI3 afgjd%ﬁ NVTOBTHBOTING 9
a) oMol 8y - b) NBIwDF
C) &8 coo0 d) @de%

6. Omkareshwar Power Station is located in State.
a) Maharashtra b) Uttar Pradesh

- €) Karnataka d) Gujarat
égoaaﬁezg;d e‘:ad%ae Feol) ORI,
a) <'».:bc:"a>c7¢>a§g b) «vgo ZZe3
C) FoFe3n d) roxovs®

7. International Day for Biological Diversity observed on
a) 22 May b) 5 June
C) 6 September d) 14 November
A FIFZoD eﬁoéd@%eosa O
a) Soe22 b) =rR3°5 ‘

¢) RTBowo’ 6 d) ISowo® 14
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a biogeography region with significant level of biodiversity that

is threatened with destruction.
a) Tropic zone b) Red zones
c) Biodiversity hotspot d) Green zone

NROTBE W R DG T BROQTI 8 e i,
9T DJOBT @mododdgt BRODT.

a) 3Reas® B b) o) SwoDbned

C) VESHNG, TR d) O BOoD
Radiation does an often calculation in the units of

a) Rad b) Joule

c) Pascal d) Kilo

DT S puBned s eﬁs%zsad BRRIT.

a) ;T b) 23oe®

c) TR’ d) sciee

Silent Valley National Park is located in State.

a) Karnataka b) West Bengal

¢) Madhya Pradesh d) Gujarat

F ot 39,9 TRIS” TOFE opl-ANIRL

a) BoFeis b) R> eyores?

C) =g BT3B d) roxoos

The number of babies produced per thousand individuals is called
a) Natality b) Mortality

c) Immigration d) None of the above
B MR dgz{@ﬁ méﬁommd &3on$ ;'Soajéo:bd% SatIavk.lelovelongerca
a) S b) &>3ed WRed

Cc) JwR d) F0edST BRBTR &)
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12. July 11 is
a) World Environment Day b) World Population Day
c) World AIDS Day d) World Education Day
w0 11 SN,
a) 23, TORT O b) &3, %d#o&:r% a3
c) é)egs 0T OF d) e’wd éﬁf@ a3
UNCED stands for

13.

14.

a) United Nations Committee for Environment Development

b) United Nations Conference on Environment and Development
¢) United Nations Community Education Department

d) United Nations for Culture, Economy and Development

UNCED »ozd

a) e SeRDT B FPoO© W), DIV R0 BRI e3008 (Eleate @?pa‘g)%mﬂ
Roog oo e #@o@)

b) otz ede SeRS* TIFY e55° DxMeptyeleling 00" BROTF 008 (0= =Y
@@%@Q 3003 Roc30g m@ﬁv #madw)

c) odoedm® SeRT, 'o%ar%aw REABERT® BT F 00 (Roodwg oaa%ﬁeﬁ
RROTITIOD 880 [ERS)

d) odogede® SeRS® g0’ segdcf, RS DIVAY B0 BT R0 (:)’o:o’@é, BRI o2
@zpag)c;pmﬂ ei)eﬁd?so;; )

Savannah, Shivalik hills are example of ecosystem.

a) Forest ecosystem b) Desert ecosystem

c) Grassland ecosystem d) Pond ecosystem
m’qu , 90OF° LS LORT wzsda;odo pVievntssiot>h

a) @ds“% OIS *7%5% ' b) &3e3en Foss agdxgp
C) a;%msw HOXT :gsd:; d) 8¢ Zoxs dsdrgp
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15: includes non-living factors like temperature, light, rainfall, soil,

minerals etc.
a) Abiotic environment b) Biotic environment
c¢) Built environment d) In situ
BOTRNT, WP, ¥, Toea, DA B0THT V2BeF R BT
WINRORT. ‘
a) we§ds ©0a3 b) a'gé)é Gyerle]
C) dWF3 TORT d) a3 2
16. The Air (Prevention and Control of Pollution) Act came into force in
a) 1981 b) 1986 ' c) 1991 d) 1948
m@(dn@% BRneRE B Ao es) 903 2501 WORT),
a) 1981 b) 1986 c) 1991 d) 1948
17. A sudden large increase in the size of a population is called
a) Pollution b) Burst
c) Population explosion d) Propulsion
uéﬁo&’goﬁa mgnd) oS d.@c% ézﬁ%a{g{ 20T FFODSNZT,
a) SO b) Tooe® R
C) wIRosd oD BRees d) R0oBRBEINT
18. World Population Day is an annual event, observed on every year.
a) June 5 b) July 11
¢) March 31 d) November 14
D, WIROLTY OR) TOXFT TODF BTN, ABSY BIRRE olelnb!
Crsleniopiyecial
a) BRI*5 b) =od 11
Cc) =0 F 31 d) SSowo® 14
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15 includes non-living factors like temperature, light, rainfall, soil,
minerals etc.
a) Abiotic environment b) Biotic environment
c¢) Built environment d) In situ
BOTRRT, VB0, [, Joeay, DVRA 00T Q2B LOBRIRY,
WITRORTS. |
a) ©TOF TORT b) 2§ BoRT
C) WF3 VORT d) a3 2
16. The Air (Prevention and Control of Pollution) Act came into force in
a) 1981 b) 1986 ' c) 1991 d) 1948
o (093, BEneadnd 0=y Qoo es) Toody 201 WORT),
a) 1981 b) 1986 c) 1991 d) 1948
17. A sudden large increase in the size of a population is called
a) Pollution b) Burst
c) Population explosion d) Propulsion
wRFoG oD MR BT BB BBFEI, 20T FFDSRNZT,
a) S b) Twoz® ARyes
C) wFoag oD Arpges d) S0oBRBINE
18. World Population Day is an annual event, cbserved on every year.
a) June 5 b) July 11
c) March 31 d) November 14
OB, W0, D) WX FODF TN, fadsg* BIRRE oleln¥)
SWORPMOIT.
a) =PI 5 b) =g 11
c) Swws 31 d) IBowo® 14
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19. The basic requirements of human beings are provided by

a) Industrialisation b) Agriculture
c) Nature d) Urbanisation
RRITT BRwLRS LRFBINTR, ABOT LBNRLINTS

a) §mosessed b) g&

c) =g ' d) Sroegdes

20. Atmosphere consists of 79 perceni Nitrogen and 21 percent Oxygen by

a) Volume b) Weight

c) Density d) All of these

[BO0T TRV 79 TETZ ATwE 103 21 BT SBEIRY, BROATIZT
a) TRed b) 23

C) AT d) @desme

21. The adverse effect of modern agricUIture is

a) Water pollution b) Soil degradation
c) Water logging d) All of the above
ST FA0T BOROTTOR

a) xo IR, b) e BI8

C) QeO woNoN® d) Boed P
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22. Water logging is a phenomenon in which
a) Crop patterns are rotated
b) Soil root zone becomes saturated due to over irrigation
c¢) Erosion of soil

d) None of the above

TOHIT® SONOTY 2,083 DR RPN

a) 3¢ TN SRS ,
b) €2803R3 QeTHTOVOTN TS FRT SO BT FWNTOBT
c) 5):%37533 ‘

d) 0O CTRRITP VY,

23. Producers are also known as
a) Heterotroph b) Saprotroph
c¢) Autotroph d) Decomposers
Spcpiate ) ROT FTCINZT.
a) BCRER T b) =adp eedn e
c) etdnetdn e’ d) Qpwsnsd
24. indicated the total mass of organisms at each trophic level.
a) Pyramid of Biomass b) Pyramid of Energy
c) Pyramid of Number d) Pyramid of Ecology

B8 e SORFY, BT 1), BHTBADR), REURYS

a) RS0 QTITE b) &0 T

c) R0s3,030 LT d) oS NRFA QTENT®
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Which of the following is management option for air pollution ?

a) Regulations and standards

b) Transport planning

c) Using CNG as fuel

d) All of these

83 INIIYNSS, 'modwd)wag@ REBFEEED 03 0IRTYTO ?
a) QOO 0B WRFFoRME.

b) modor cdrexd

C) AT RO, RGN WFRHITO

d) asee

Treated water can be disinfected by adding

a) Alum b) Fluorine
c) Chlorine d) Oxygen
RORDRTI DTS, REORE TWURLB RPE0R SLHINRRPRTBOTD.
a) $B0R° b) peds*
C) BRe0* d) &S

pH of rainwater is

a) 5-6 b) 6-7 c) 7-8 d) 8-9
0% Q0T pH
a) 5-6 b) 6-7 c) 7-8 d) 8-9
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28. Logo of WWF is

a) Giant Panda b) Polar Bear
c) Red Panda d) Brown Bear
WWF 3 &0

a) B TOB b) 7 TR

c) o) TR d) 3oz IR

29. Which of the following are consequences of Ozone depletion ?
a) Skin cancer and cataract
b) Reduced growth in plants
¢) Shortening of zooplanktons and their breeding period
d) All of the above
23 FINTPYNTE. IR0 wedped’ REFLOD TOTIRONED
a) 3ROF T TFOT 0 ézzgas Syple]
b) #z’gsﬁe}qs IR BRCIPIR T
C) TR,63 W0 302 WYNY FoEReBE, ©=Y BRT0IRNOR) T
d) S0edS Q0P

30. is a colorless unstable toxic gas with a pungent odour formed
from oxygen by electrical discharge or UV light.

a) Sulphur dioxide b) Particulate matter

c) Ozone d) Carbon monoxide

22690838 4T DO SACTONG), AT BRTRRRNE LT
03008 IFIR0T RFIFET TRPRROE B¢ mﬁﬁo&:ﬁ% RROQTIBT.

a) RYO° ¢ 58 @ b) dOFA, =R
C) WBReS® d) soera’ Semet @
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The true end of any food chain is the

a) Decomposer b) Predator

c) Consumer d) Human

ORI &3ToT ATTYOI ATIOT ©0g3003

a) NPLIBNH b) & deeso®

c) envatedeen d) S»3=

The second trdphic level in a lake is

a) Phytoplankton b) Zooplanktons

c) Fishes | d) Benthos
ABRESTH 2TBSe 33,6505 m;

a) #:gs G b) 0,63 ess

C) QeRoned d) Pdozdnexs

Energy flow in an ecosystem is

a) Bidirectional b) Unidirectional

c) Multidirectional d) All rounds

TORT FWHODOT P30 BO

a) Q0D b) 9303

C) WIS d) oo RIAND
Which one of the following is not a gaseous biogeochemical cycle ?
a) Nitrogen cycle b) Carbon cycle

¢) Sulphur cycle d) Phosphorus cycle
83 IINSPHNTS), 3N 9w OB CORODE B, 9

a) RTRIT 237 b) FoeFa* o33,

C) RYTF g, d) Cos 235,
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35. Which of the following is not an inexhaustible form of energy ?

a) Water b) Wind
c) Solar d) Fossil
33 IBNIRINFQ, IR O TRESNT oD, ?
a) e b) m¢®
c) 3 d) DSo30es
36. An is a dynamic entity composed of a biological community and

its associated abiotic environment.

a) Ecosystem | b) Environment
c) Society d) Niche
200D _ 0T T BRNTOD 02 eﬁdéﬁ RoWORIT 2 D% TORTOOT
28T BT EITNG.
a) WORT FF, b) o=3
C) AR d) 3¢
37. biological community of plants, animals and fungi etc., over
time, have reached a steady state.
a) Primary succession b) Climax community
c) Secondary succession d) Tertiary succession

RR,NL0, T edrish B2 dAeo i [T ONE 0T BRI
TRTOITTS, ﬁgpd P&éﬁ 30T,

a) T,PT YUZTRTT b) 3 dd.mzsa; RBNT0D
C) §,8¢03 &RBR d) 28ecd B
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38. According to National Forest Policy 1952, the reporting area of the forest
must be of the total land.
a) 50% b) 40% c) 60% d) 33.3%
T08y,003 0eq, Ded 1952 3 B5o0, ORI TOD BRI F3eB) L), LWRNDY,
e3NTLIeB.
a) 50% b) 40% c) 60% d) 33.3%
39. Soil is formed by
a) Weathering of rocks b) Chemical reaction
c) Spontaneously S d) Always exists
a&mgg Fe3JeenoZa.
a) wWoBnY 8ROEFTEIROT ~ b) ComRO3RE 303H0W0T
c) zéo:boaje@émﬁ d) ngd @@%@ocﬁ
40. Typhoid, Cholera, Paratyphoid are examples of diseases.
oo a) Air borne b) Water borne |
: : c) Vector borne d) Genetic
, E %@oﬁaw, FOOTD, méca%moww _ BRnnenR eumemonnyen.
a) MPOVOT BOB b) Qe0R0T BTEOD
C) BREMOBINTOT BTREED d) s0[0dT
41. Noise is measured by sound meter and the unit is
a) Hertz . b) Joule
c) Decibel d) Seconds
eﬂzg)aiﬁaq cés‘@ £00E3T7R0T LFODERMIBTI T08) BT DTRID
a) T b) PeF
c) Baydes d) Roce’
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42.

43.

45.

Which is the only country which has not ratified the Kyoto Protocol yet ?
a) United States b) Australia

c) Japan d) India

Ry eedne émpddaﬁg{@aﬁg e30NeBORT DFF T3 BRI ?

a) OOFEE" AL’ b) &7 edadm

C) =TT d) U3

Ozone Day is observed on

a) 3% January b) 16" September
¢) 10" November ©d) 26" March
_ Somd kiee OSR) SwEORTRrgs.

a) =303 b) Ra3oeso® 16

c) SBowo* 10 d) =00 26

The average life expectancy around the world is currently

a) Stable b) Increasing

c) Decreasing d) Not changing
BP0 ROORD BETBWROIN TRIBTY

a) BTN b) e 3

C) 3RV d) wdwenrdée)
HIV is not likely to be transmitted by

a) Sharing needles of injections b) Mosquito bites
c¢) Blood transfusion d) None of the above

QTOOT 230 BOBOR mqgsé 8.
a) ?,53?523&336?353 mm%;g DowBRRRID  b) ReY, 525%53)63
C) 388 BFSs d) B0 CIRTO B
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46.

47.

48.

World Environment Day is on

a) 5" May b) 5" June

c) 18" July d) 16" August
03, BORO o3

a) R0¢5 b) =5

c) w18 d) @n=’ 16

Which of the following are major environmental issues involved in mining ?

a) air pollution b) water pollution
c) soil degradation , d) all of the above
23 3SNIINGE, ReSTOBO3E), TR BORTS RBRN SRR ?
a) 50030 BROT, b) %® DR,

c) Roeds eIRDS d) 0O QIR

Soil erosion removes surface soil which contains

a) Organic matter

b) Plant nutrients

c) Both a) and b)

d) None of the above

ﬁaeémﬁ RIBR) fadagmﬁﬁfoo@dad 0eq dasama’gt 3R TOBZT
a) AT WA

b) =%, DpeRTOBNR

c) a) B b) DOBH

d) BoeOF CIRTWTR B,
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49. The impact of construction of dams

a) Submerged forest

b) Loss of wild life habitat

c) Damages downstream ecosystem
d) All of the above

eESBLNY ARNF T BOTHOTO

a) BONT TTO

b) BB 2eRIT SIRTTT SR,

C) TR e RORT gd%ojadgt ToAMRTRIT
d) eI VTP

50. A herbivore is also known as a

a) Producer b) First order consumer
c) Second order consumer d) Third order consumer
#;'gsmbodaag QOTR FTCLOZT.

a) QUZRTE b) BT TS BVTLREN
C) 2CRESe B3 LvTReN d) R0R0Se B3 LTReN

51. Which is a list of renewable resources ?

a) Petroleum, geothermal, wind

b) Biomass, geothermal, hydropower

c) Natural gas, wind, biomass

d) Hydropower, solar, wind energy
SREBORLBITOT ;Sowz.r%@r{e} T IR ?
a) BedRedoddo, GeZesD, MoP

b) 2eR008, BTN, WY

c) a’gﬁﬁré eQ®, TP, WeRTHS

d) me33, X9, oY B3
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Red data book contains data of

a) All plant species

b) All animal species

c) Threatened species

d) Economically important species

o) Bt TYFTR) BRI, WINRORT.
a) QR AX| Brerdnsd

b) e s 2PENH

C) EPITOW 2363 SN

d) SRFFN D[E0D 2WPENED

IUCN Headquarters is at

a) Morges, Switzerland b) Paris, France

c) Vienna, Austria d) New York, USA
DOIVRD® TR 23D QT

a) BRERFA’, A VSO b) 0%, TR,

C) 2030, BR8P d) SROINTF, IVIT D

Hotspots are regions of high

a) Rareness

b) Endemism

c) Diversity

d) Critically endangered population
TORF R0 U BTeBNTDNES,
a) TTRD

b) ﬁ@@eo:bé’

c) G

d) ez LPRTOITOTE BWIIRWRD

SPACE FOR ROUGH WORK



A O - QP - 494

55. Which group of vertebrates comprises of highest number of species ?

a) Mammals b) Fishes
c) Reptiles d) Birds
33e303NnY O3RT MO0 ézﬁgﬁ ?30935030 mér{ddg{ WIRORT ?
a) RFIND b) Qoeonsd
C) ROLRTL d) SR

56. Biogas contains mainly |
a) Methane b) Propane

c) Butane d) Carbon dioxide
?%m OR) aim%mh WERRORT

a) Q0GR b) HpeRex®

C) wR e d) @oren @ &8 &

57. A poisonous gas given out of a vehicle exhaust is
a) Methane
b) Ethane
c¢) Carbon dioxide
d) Carbon monoxide

OB DTRRDOT GV DRFO LAY
a) eges”

b) ssc3ex*

C) QOB @ & =

d) SWFY® BRI =
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58. The purest form of coal is

a) Anthracite b) Lignite
c) Peat d) Bitumen
30RO BT TR

™M Q @
a) ST’ b) O &
C) e d) eRT*

59. Loss of forest has led to
a) Erosion of fertile soil
b) Global warming
c) Loss of habitat of plants and animals

d) All of the above
PRI SR TG, FO0EDONTS

a) POIRT ms%ai 233

b) NS PTRPIE DOF

c) RRT 33 TN STORWFE I,
d) 0O QP

60. Which of these is not a fossil fuel ?

a) Coal - b) Oil

c) Natural gas | d) Uranium
QRNSE, BRI TLOS0PE ROGFIRY), ?

a) 39T b) o

c) @ﬁm—-s (CNO) d) o3wdedcddo

AR
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61. Yellowing of Taj Mahal is an effect of

a) Acid rain b) Global warming

c) Ozone depletion d) All of the above

2903 IR BIOBRRODER BT FTENI

a) R [% \ b) 2NET TOTRRIE OB
c) iR’ ANTY d) S0edT QP

62. Which country has organized its cabinet meeting under the sea to drag

attention of the world towards the global warming and its threats ?

a) Maldives b) Sri Lanka

c) Fiji d) Indonesia

2INSE PTRRS F0F) 3T 308N IEN a%d ﬁdmﬁﬁ%ﬁeﬁoﬁw O30 BBy 3§
saéwéw #@WQ RBOTT BN £303R623T3 ?

a) @R’ b) &ew0sd

c) % d) QTR

63. Things you can do to decrease global warming include

a) Reduce the usage of your air conditioner on high

b) Turn off your light when you are not using them

c) Use public transports instead of personal vehicles for transportation

d) All of the above

NSB mmmmﬂ 23 INTBLO AT BNBWBIR FORN 338 FINIYNPE), RedS
a) AR U BIOROPOZED WHFODNR), TR =R

b) Qe 23%355% WIRON @@ﬁ%}@* e53° BB

c) mOrmoN FoDss BING WROR R RIT FOROD) WHR

d) SO 2P
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65. The largest country in the world in terms of population is

66.

494 -22-

is a composite statistics of life expectancy, education and
income level.
a) GDP b) PPP
c) NI d) HDI
a) BB b) &
C) N d) RN

a) India b) USA

c) Russia d) China
2%IR083, 0D Cé)&&o&)od B3 CElatolcy 3e3

a) 03 b) 030D
c) O d) e
UNEP stands for

a) United Nation Economic Protection
b) United National Economic Program
c) United Nations Environment Program

d) Union National Environmental Program
030N B DOTT

a) 0305w’ SRS BT TR

b) o3 EiE" FWTS® BT TR0

C) OhORHIE e, AR OO0 TP,
d) CRRT RIS DR, DO 0L TR0
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67. Sundarbans is an example for

68.

69.

70.

SPACE FOR ROUGH WORK

a) Lagoon b) Estuary c) Mangrove d) Reefs

R0TBT* WS’ 2,003 AT, PUTTIBTEOIRNT

a) onR b) SRRV BRXD C) TR d) 220Tned
is obtained by decomposition of animal and plant wastes like

animal dung, with the help of microorganisms in the presence of water.

a) LPG b) CNG c). Hydrogen Gas d) Biogas
N emméo:be“) ART, 2ean 259030008 TENY Znedo30e B00TT

50,68 F08Y AT T B, 3RPRIR SRB BB,

>
a) TR b) "% c) a’cﬁmu&‘ o  d) ﬁé’bﬁ SN
Which one of the following has the maximum genetic diversity in India ?
a) Tea b) Teak c) Mango d) Wheat
23 F3NSINGD, o3RI GOTBEY, no%, 3R0m088 FOG, 30303, BROWT ?

a) B b) 3en c) RR) d) fee®
Disposable glasses and plates are made up of

a) PVC b) Polystyrene

c) Polyvinyl alcohol d) Polypropylene

PR EIBITOR TRED 302 DUBRTR, 2T00% RPBTINT

a) R b) R O

c) WO SR, Gonld d) DORFO
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